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W czasie pracy
Poza praca

Bez tadunku i balastu z maksymalnym wysiggnikiem i wysoko$cig
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31» 214 22 25 27 30 32 35 37 374419 45 47 50 52 55 57 60 62 65 67 70 m
12116 10 91 8 73 65 61 6 6 55 52 49 46 43 42 39 37 35 34 32 t

31» 228 25 27 30 32 35 37 39 404447 47 50 52 55 57 60 62 65 m
12108 98 87 8 72 67 63 6 6 57 53 5 47 45 42 41 385 t
31» 228 25 27 30 32 35 37 39 404447 47 50 52 55 57 60 m
12 108 98 87 8 72 67 63 6 6 57 53 5 47 45425 t
31» 28 25 27 30 32 35 37 39 404447 47 50 52 55 m
12 108 98 87 8 72 67 63 6 6 57 53 5 47 t
31» 238 25 27 30 32 35 37 40 404447 47 50 m
12 11,1101 89 82 74 69 62 6 6§ 58 54 t
31» 238 25 27 30 32 35 37 40 404447 m
12 11,3103 91 84 76 71 64 6 ¢ t
31» 247 25 27 30 32 35 37 40 m
12 11,8108 95 88 79 74 67 t
t
31» 248 25 27 30 32 35 m ()u_u w
12 11,9108 96 89 7,95 t 12
31> 249 25 27 30 m 6 f@
12 119109 96 t IS == .
—— =s-0,75t

26> 207 22 25 27 30 32 35 38 39 42 45 47 50 52 55 57 60 62 65 67 70 m
12 11,8101 92 81 75 67 6 6 55 5 47 43 41 38 36 33 32 3 28265 t

26» 229 25 27 30 32 35 37 405415 45 47 50 52 55 57 60 62 65 m
12 108 99 87 81 72 67 6 6 54 51 47 45 42 4 37 35 33 t
26> 231 25 27 30 32 35 37 41,1421 45 47 50 52 55 57 60 m
12,109 10 88 82 73 68 6 6 55 52 48 46 43 41 38 t
2,6» 231 25 27 30 32 35 37 M1421 45 47 50 52 55 m
12 109 10 88 82 73 68 6 6 55 52 48 46 43 t
26» 235 25 27 30 32 35 37 40 41,9429 45 47 50 m
12 112102 9 84 75 7 64 6 6 57 54 495 t
26> 24 25 27 30 32 35 37 40 427438 45 m
12 11,4105 92 86 77 72 65 6 6 58 t
26> 248 25 27 30 32 35 37 40 m
12 119109 96 89 8 75 68 t M -
26> 25 27 30 32 35 m 12
12 109 97 9 805 t 025t
3 ] y 6
|\~__ :i
26 25 27 30 m ' (m)
12 11 97 t ——= W05t
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ch-PS

hp kW
m/min 0 = 33 0 — 66 0o - 0 = 33 370 m
4
t 6 3 6 £ U >370 €
m/min 35— 9> 27237 —=55=66 17—45—135—185—275—33 50 37 344 m
t 6 6 6 45 3 15 12 6 3 >344 €
m/mn 5=13=>41=>55=>82=99 25=65—205—275— 41— 495 75 55 601 m
t 6 6 6 45 3 15 12 6 3 >601 @
m/min 86 = 103 = 129 — 172 — 206 43 = 51,5 = 64,5 = 86 — 103 120 90 652 m
t 6 45 3 1,5 075 12 1,5 >652 €)
. 10 - 50(12 1)
m/min 100 (6 1) 7,4 5,4
tr/min
U/min 0-— 0,7 2x12  2x9
rpm
m/min 15-30 4x5 4x3,7
m/min 13,5 - 27 4x7 4x572
m/min 10 - 50 4x6,8 4x5

50 LVF: 75 kVA
55 RCS: 80 kVA
75 LVF: 100 kVA
120 LCC; 185 kVA

400V (+6% - 10%) 50 Hz
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84/534 - 87/405



